
Zał. nr 1

Wykop Nasyp Wykop Nasyp

km m2 m2 m m3 m3

1 2 3 4 5 6

0+000,00 2,55 0,29 - - -
0+020,00 2,55 0,29 20,00 51 6
0+040,00 1,79 0,27 20,00 43 6
0+060,00 1,72 0,36 20,00 35 6
0+080,00 1,32 0,25 20,00 30 6
0+100,00 2,35 0,12 20,00 37 4
0+120,00 2,94 0,12 20,00 53 2
0+140,00 2,68 0,09 20,00 56 2
0+160,00 2,52 0,10 20,00 52 2
0+180,00 2,20 0,12 20,00 47 2
0+200,00 1,89 0,08 20,00 41 2
0+220,00 2,29 0,14 20,00 42 2
0+227,04 2,29 0,14 7,04 16 1

503 41 

518 42 

TRASA ZASADNICZA

Suma:
Po uwzględnieniu współczynnika 

spulchnienia 1,03

TABELA OBJ ĘTOŚCI ROBÓT ZIEMNYCH 

PikietaŜ
Powierzchnia

Odległość
Objętość


